a) If this circle passes through
('313)
slope of AF x slope of BF =-1
(Since Angles in a semi circle is a right
angle,so AF is perpendicular to BF)
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Slopeof AF=—>—= =1 =_1
ope of 3421
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.".slopeof AF X Slopeof BF=—1X1=—1
(-3,3) is a point on the circle.

b)Equation of the circle is LRI RN N O (T

(x—1)+(y—6)=25 il
X' +y*—2x—12 y+1+36=25 ~
Xy —2x—12y+12=0
y'=12y+12=0 .'.(y—6)'=24
c) If Circle touches the y axis, x=0 .’. y—6=+24=+26.".y=6+2/6
.".Points are (0, 6+26),(0, 6—26)
OR
Equation of the circle= (x—2)+(y—3)’=25
a) (2,3) b)s ¢c)If (5.7) is a point on the circle , this satisfies the equation of
the circle. (5—2)*+(7—3)’=3’+4°=9+16=25 c) If it touches the x-axis, y=0
o (x=2)4(0-3)°=25.".(x—2)*+9=25.".(x=2)’=16.".x—2=+4.' . x=2+4=6 Or x=2-4=-2
The points are (6,0) and (-2,0)
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